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For each of the impulse-response plots (J, K, L, M, N, O), determine which one of the following systems
(specified by either an H (2) or a difference equation) matches the impulse response.

J: | [K: (L M - IN: o |

So: y[n] = 0.9y[n — 1] 4+ x[n] + X[n — 1]
Sy y[n] = 0.4y[n — 1] 4+ X[n] + X[n — 1]

271

Sz H(Z)=1—|-092—1

St H@=3il+z'+z?

Sa: yInl = xInl + zX[n — 1] + zx[n — 2] + zX[n — 3]
4
Ss y[n]:%Zx[n—k]

Se: H@=0Q+zYH

McClellan, Schafer and Yoder, Signal Processing First, ISBN 0-13-065562-7.
Prentice Hall, Upper Saddle River, NJ07458. (© 2003 Pearson Education, Inc. [SO L UT I O N




IMPULSE FIESPONSE J IMPULSE RESPONSE: K

*
] (111 3
T
(1 XIX]] 1 1 1 ‘ 01
-0.5
-5 10 15 5 0 5 10 15
IMPULSE RESPONSE: L IMPULSE RESPONSE: M
15
0.3 T'
1
0.2
0.5¢ 01}
> eeee 2000000000000
5 0 5 10 15 5 0 5 10 15
IMPULSE RESPONSE: N IMPULSE RESPONSE: O
2 3 n
15
2
1
05 1
5 0 5 10 15 5 0 5 10 15
TIME INDEX (n) TIME INDEX (n)

For each of the impulse-response plots (J, K, L, M, N, O), determine which one of the following
systems (specified by either an H(z) or a difference equation) matches the impulse response.

J:Sp | [KiS4] [L:S{] [M:S3] [N:S.] [0: Sg |
So:  y[n] =09y[n — 1]+ z[n] + z[n - 1] LO.e, )'\

S1: y[n] =04y[n— 1]+ z[n] + z[n - 1] (O. 4 )n
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Sy H(z)=1—+~onz_T o (-O-‘l)"‘

S3: H(z)=3i1+z"1+27% L=3

il
<+

Ss:  yln]=iz[n] + izn - 1]+ 1zln — 2] + iz[n - 3 L

Ss:  y[n] =%Z_: z[n — k] L=5

S : H(z)=(1+z_1)3 L= 4—
| +32' 4 32%+ 2
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